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Marks:-40
Q.1.
The slope of a line is double of the slope of another line. If tangent of the angle between them is 1/3, find the slope of the lines.

Q.2.
A line perpendicular to the line segment joining the points (1,0) and (2,3) divides it in the ratio 1:n. Find the equation of the line.

Q.3.
Find equation of the line passing through the point (2,2) and cutting off intercepts on the axes whose sum is 9.

Q.4.
Find the distance of the point (-1,1) from the line 12(x + 6) =5(y - 2).

Q.5.
If p is the length of perpendicular from origin to the line 
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Q.6.
Find the coordinates of the foot of the perpendicular from the point (-1,3) to the line 
            3x – 4y – 16=0.

Q.7.
Assuming that straight lines work as the plane mirror for a point, find the image of the point (1, 2) in the line x – 3y + 4 = 0.

Q.8.
Find the value of p so that the three lines 3x + y – 2 =0,  px + 2y -3 = 0 and 2x –y -3 = 0 may intersect at one point.

Q.9.
In what ratio, the line joining (-1, 1) and (5, 7) is divided by the line x + y =4.

Q.10.
Find equation of the line which is equidistant from parallel lines 9x + 6y -7 =0 and 3x + 2y +6=0
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